' Golden F'istnns] | W

2011012443 oI35 "




!/’r ‘\a \We lﬁ}



2 X}
—
1. &8 MH ol&
; AN 8
2. 3N 24
AL\
3. DMU Kinematics
L\ N

4. NA 98

S






















A

ok x2







YOUR FIT SUMMARY

Fit Style The Eddy Fit :
) Effective Top Tube Length Diaws Lo
Top Tube Length 48.484Cm \ o R L]
Seat Tube Range §9.5.60 Cm ‘
CcC B8-Saddle
Seat Tube Range 61.3-61.8Cm '
Lo | Seatwberangect \
Stem Length 91-97Cm i
BB Saddle 76.4.784Cm Seat tube range ¢-¢
Position
Saddle Handlebar 487 -.493Cm
Saddle Setback 1.2.123Cm
Seatpost Type Setoack Soddic Setback
SHOP ROAD BIKES >
YCUR MEASUREMENTS EMAIL MY RESULTS
Inseam 90 Cm Email AdAress  ohndoeBompattivecycist com
Trunk 50 Cm '
Forearm 27 Cm Comments
Arm 75Cm 7
Thigh 50 Cm Send a copy of my resuits to customer service for personal advice
Join our emad ist
Lower Leg 40 Cm
Sternal Notch 135 Cm
SEND
Total Height 175 Cm
EDIT MEASUREMENTS

~§
http://www.competitivecyclist.com/Store/catalog

/fitCalculatorBike.jsp#measures
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=T E 1 (Gear.l,bicycle.1)

E 4 (Crank.1,bicycle.1)
X5 (Crank.1,Pedal.2)
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) 2| 22 E 7 (bicycle.1,Handle.1)
X 9 (Pin.1, Wheel.2)
.10 (Wheel.2,Tire.1)
d.11 (Grib.1,Handle.1)

.13 (Gear.1, Wheel.1)
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# 117412 (Gnb.2 Handle.1)
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.14 (Wheel.1,Tire.2)
=5 E .12 (Pin.1,Handle.1)
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1 (Gear.1,bicycle.1)

4 (Crank.1,bicycle.1)
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2| 22 E 7 (bicycle.1,Handle.1)
X 9 (Pin.LWheel.2)

.10 (Wheel.2, Tire.1)

M .11 (Grib.1,Handle.1)
.12 (Gnb.2,Handle.1)
.13 (Gear.1,Wheel.1)
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1 (Gear.1,bicycle.1)
E 4 (Crank.1,bicycle.1)

# 1179.5 (Crank.1,Pedal.2)

# 1174.6 (Crank.1,Pedal.1)

) 2| =5 E.7 (bicycle.1,Handle.1)
.9 (Pin.1, Wheel.2)
.10 (Wheel.2,Tire.1)

.12 (Gnb.2,Handle.1)
.13 (Gear.1,Wheel.1)
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| =F E.12 (Pin.1,Handle.1)
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E 4 (Crank.1,bicycle.1)
1.5 (Crank.1,Pedal.2)
6 (Crank.1,Pedal.1)
2] =5 E.7 (bicycle.1,Handle.1)
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Ei 112 (Grib.2,Handle.1)

.13 (Gear.1,Wheel.1)
17 .14 (Wheel.1,Tire.2)

) 2| = £ E 12 (Pin.1,Handle.1)
















